
SOLUTIONS



u. .

:
" "

i÷.) -

- 4¥) a÷÷
Ys -- Va (7¥) = 4 ( ÷)

4
I

'Va Ct) = 4 sin Czo# t ) ✓
↳ F = 10 H Z ⇒ T= o . Is

"



VI VA VB Vz

VG
VA , VB

KCL@nodeAV2+ VI + VA - VB
= o

1
-

I

3Va_VB
\KCL @ node B

¥a+¥t !÷÷:÷⇒ Fat



3
.
- I Va 12

- I 3 VB 8

IT T

a-
'

= E . I]
"

=# 's ]
=

* a-
'

b -

- C::: :: I :]
=



matai, tomato :

f: ÷)! :] ¥
. .



i. t.fi i

..

= ( La. . ii. IIE :

..

= ÷
.

-

:: i

..

= ÷:: ::
"

: :

..

=

..



tazz

B = 2¥ = 251.33mi

Detailed solution

# 9:B:L .
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2L

Wo =¥2 = 43J = 252.16M€ = ¥2
Choose L = 100 MH

,
then R = 212=4.09520

and C =↳ = 0.1573in
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Cz discharged @ t=5 ⇒ Volt) is halved .

= 5353 V

⇒ Vo ( 5+7=2.68 V
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Voltage @ node A

,
Va = Vz (pfI⇒

= to ( ¥5) = 4V

Voltage across diode = VA - V , = 4 - G

=

The assumption that diode is off is CoRR .

treason Voltage across diode L Vturn
- on
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Voltage @ node A

,
Va = VI t Vturn

-on =
TV

current through resistor Rl = IR ,
= V2 - VA
Tk

= O- 5mA into hyde
current through resistor R2 =Irz=V4# = I -75 mA out of hfde

current through diode ( from anode to cathode) = Irz - IR ,

= -1.25Mt

The assumption that diode is on is Incorrect

Reason :
-

Current through diode (anode to cathode)
when on

,
should be a positive quantity .
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